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1 FHIR E1R4A RIS ~ 2 JCT 71.900 80,400 89% 45,300 52,600 86Y% 26.600 27,800 96%
2 FHIR E1E4 BE~EL =T 65,100 72,300 90% 45,600 50,800 90% 19,500 21,500 91%
3 TR E1E4 2B~ RT—F 56,200 62,100 90% 37.600 40,900 92% 18,600 21,200 88%
4 BHIR EIAL &4, I8 BT ~ 22 [ B JCT 43,400 45,200 96% 15,800 18,500 85% 27.600 26,700 103%
5 BHIR EIAREVE SE~ & EERJCT 98,700 104,300 95% 51,700 68,700 75% 47,000 35,600 132%
6 BHE E23F 4 R LhEA~ET 60,900 64,400 95% 47.100 50,700 93% 13.800 13,700 101%
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11 I BB IR CIEEIBEE LR ~ TIERSAE 15,100 16,800 90% 9,700 11,400 85% 5,400 5,400 100%
12 ZER E1AGEN 2 BEEE~EEAL 72,600 75,100 97% 32,600 37,700 86% 40,000 37,400 107%
13 ZER E1AS 4 # WH~ BEAY— 38,600 0 § 10.400 0 5 28.200 0 -
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